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QUESTION 1

What is the size of a VMAX3 Gatekeeper device?
A.3 MB

B. 6 MB

C.3GB

D. 6 Cyl

Correct Answer: A

Reference: http://www.itcaps.net/index.php?option=com_easyblogandview=entryandid=8andltemid=254

QUESTION 2

Storage has been provisioned from a VMAX3 using a Masking View with a single Storage Group associated with the
Bronze SLO. How can new storage be provisioned to this host using the Gold SLO while maintaining the original
volumes in the Bronze SLO?

A. Convert the existing Storage Group to cascaded, create a new child Storage Group for the new devices, and apply
the Gold SLO.

B. Apply the Gold SLO directly to the new volumes.
C. Add a cascaded Storage Group to the original Storage Group and apply the Gold SLO.
D. A new Masking View and Storage Group is required for the devices managed by the Gold SLO.

Correct Answer: A

QUESTION 3

The Reserved Capacity for a Storage Resource Pool (SRP) on a VMAX3 has been set to 15%. A TimeFinder SnapVX
snapshot has been created for a Storage Group containing 10 devices. An application is actively performing read and
write

I/Os to these devices. The snapshot is linked to the target in Copy mode. Allocation for the SRP reaches 85%.

What will happen to the copy process?

A. Copy to target will halt

B. Copy to target will fail

C. Tracks required for the copy will be allocated from the Reserved Capacity

D. Copy to target will continue and complete
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Correct Answer: B

QUESTION 4

What is a benefit of Multi-Cycle Mode of operation for SRDF/A?

A. SRDF link will experience longer periods of inactivity allowing for shared use of the link

B. Data that is sent across the link to the R2 side will be smaller in size and not overwhelm the link
C. Enhanced parallel processing will result in more efficient core utilization

D. Delta Set Extension is disabled for this mode of operation

Correct Answer: B

QUESTION 5

In addition to the Solutions Enabler 8.0.x Base daemon, which other daemon is also mandatory at installation?
A. GNS

B. SYMAPI Server

C.STP

D. Event

Correct Answer: A

Latest E20-507 Dumps E20-507 Practice Test E20-507 Exam Questions

Latest E20-507 Dumps | E20-507 Practice Test | E20-507 Exam Questions 3/3


https://www.pass4itsure.com/e20-507.html
https://www.pass4itsure.com/e20-507.html
https://www.pass4itsure.com/e20-507.html
http://www.tcpdf.org
https://www.pass4itsure.com/e20-507.html
https://www.pass4itsure.com/e20-507.html
https://www.pass4itsure.com/e20-507.html

